Standards-based Assessment Bank
4TH Grade Non-Fiction

Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	36
	Reading AchievementMar 05
	C
	RP 4.7
	Mae C. Jemison
	Biography
	This multiple-choice question asks students to answer a literal question based on information in the selection.

	37
	Reading AchievementMar 05
	B
	IT 4.4
	Mae C. Jemison
	Biography
	This extended-response question asks students to identify causes and effects for certain aspects of Mae Jemison’s life.

	38
	Reading AchievementMar 05
	C
	RP 4.7
	Mae C. Jemison
	Biography
	This multiple-choice question asks students to identify the statement which supports a fact from the selection.

	39 
	Reading AchievementMar 05
	A
	AV 4.2
	Mae C. Jemison
	Biography
	This multiple-choice question asks students to determine the meaning of a word based on the information in the given sentence.

	40
	Reading AchievementMar 05
	A
	RP 4.6
	Mae C. Jemison
	Biography
	This short-answer question asks students to complete a timeline with the important events of Mae Jemison’s life.

	41
	Reading AchievementMar 05
	B
	IT 4.4
	Mae C. Jemison
	Biography
	This multiple-choice question asks students to determine the cause that led to Mae Jemison’s trip to the Sierra Leone and Liberia.

	42
	Reading AchievementMar 05
	F
	IT 4.2
	Mae C. Jemison
	Biography
	This multiple-choice question asks students to identify the main idea of the reading selection.

	43
	Reading AchievementMar 05
	F
	AV 4.9
	Mae C. Jemison
	Biography
	This multiple-choice question asks students to use the dictionary entry to determine the correct definition of fit as it appears in this sentence.

	9
	Reading AchievementMar 05
	C
	RP 4.7
	Putting the Sun to Work
	Science
	This multiple-choice question asks students to locate information found in the selection relative to the sun’s energy.

	10
	Reading AchievementMar 05
	C
	RP 4.7
	Putting the Sun to Work
	Science
	In this multiple-choice question students are to make a comparison between the way different materials respond to heat.

	11
	Reading AchievementMar 05
	B
	IT 4.4
	Putting the Sun to Work
	Science
	This multiple-choice question asks students to identify a statement based on information the read in the selection that reflects a causal relationship.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	12
	Reading AchievementMar 05
	C
	RP 4.5
	Putting the Sun to Work
	Science
	This short-answer question asks students to use information in the text to answer a question about solar energy.

	13
	Reading AchievementMar 05
	F
	AV 4.9
	Putting the Sun to Work
	Science
	This multiple-choice question asks students to use a dictionary entry to determine the correct meaning for the word store.

	14
	Reading AchievementMar 05
	B
	IT 4.4
	Putting the Sun to Work
	Science
	This multiple-choice question asks students to identify a cause for a specific event or incident.

	15
	Reading AchievementMar 05
	C
	RP 4.7
	Putting the Sun to Work
	Science
	This multiple-choice question asks students to identify the material or action that keeps a house warm in winter and cool in summer.

	16
	Reading AchievementMar 05
	C
	IT 4.3
	Putting the Sun to Work
	Science
	This extended-response question asks students to provide a summary for the sections that fall under each subheading.

	17
	Reading AchievementMar 05
	A
	AV 4.2
	Putting the Sun to Work
	Science
	This multiple-choice question asks students to use the meanings of words in word pairs to determine which set contains antonyms.

	36
	Reading AchievementMar 06
	C

A
	RP 4.7,       IT 4.5
	River To The Sea
	Science
	This multiple-choice question asks students to show they are making meaning by answering a literal question based on information in the text.

	37
	Reading AchievementMar 06
	C
	RP 4.7
	River To The Sea
	Science
	This multiple-choice question asks students to use reading comprehension strategies to summarize paragraph two of the selection.

	38
	Reading AchievementMar 06
	B
	AV 4.5
	River To The Sea
	Science
	This multiple-choice question asks students to determine which statement in these two sentences from the selection is a simile.

	39
	Reading AchievementMar 06
	B
	IT 4.4
	River To The Sea
	Science
	This short-answer question asks the students to recall how rivers become deeper and faster.

	40
	Reading AchievementMar 06
	F
	IT 4.2
	River To The Sea
	Science
	This multiple-choice question asks students to determine the relationship between the author and the main idea of the selection.

	41
	Reading AchievementMar 06
	B
	IT 4.7
	River To The Sea
	Science
	This multiple-choice question asks students to read a series of statements from the selection and choose the one that is an opinion (not factual).

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	42
	Reading AchievementMar 06
	A
	RP 4.6
	River To The Sea
	Science
	This short-answer question asks students to show their comprehension by filling details into the web.

	43
	Reading AchievementMar 06
	B
	AV 4.2,        AV 4.4
	River To The Sea
	Science
	This multiple-choice item asks students to read a set of word pairs and determine which word pair is synonymous.

	21
	Reading AchievementMay 07
	C
	RP 4.7
	The Apple-Seed Man
	Biography
	This multiple-choice question asks students to answer a literal question about John Chapman.

	22
	Reading Achievement May 07
	C
	RP 4.7
	The Apple-Seed Man
	Biography
	This multiple-choice question asks students to answer a literal question about John Chapman.

	23
	Reading Achievement May 07
	C
	RP 4.7
	The Apple-Seed Man
	Biography
	This multiple-choice question asks students to answer a literal question about John Chapman.

	24
	Reading Achievement May 07
	F
	IT 4.2
	The Apple-Seed Man
	Biography
	This extended-response question asks students to provide details from the selection that support or back up a summary statement of the selection.

	25
	Reading Achievement May 07
	B
	IT 4.7
	The Apple-Seed Man
	Biography
	This multiple-choice question asks students to decide whether four given sentences from the story are statements of fact or opinion.

	26
	Reading Achievement May 07
	F
	IT 4.2
	The Apple-Seed Man
	Biography
	This multiple-choice question asks students to decide which of the given summary statements reflects the main idea of “The Apple Seed Man”.

	27
	Reading Achievement May 07
	E
	AV 4.7
	The Apple-Seed Man
	Biography
	This multiple-choice question asks students to understand the root word “know” to determine the meaning of the word knowledge.

	15
	Reading Achievement May 08
	F
	IT 4.2
	Horseshoes
	Science
	This multiple-choice question asks students to determine which of the answer choices is the main idea that is supported by the given details.

	16
	Reading Achievement May 08
	B
	AV 4.5
	Horseshoes
	Science
	This multiple-choice question asks students to determine which of the given phrases is a form of figurative language called a simile.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	17
	Reading Achievement May 08
	B
	RP 4.5
	Horseshoes
	Science
	This short-answer question asks students to compare wild horses to domesticated horses and determine why wild horses do not need horse shoes.

	18
	Reading Achievement May 08
	IT-A
RP-C
	IT 4.5,      RP 4.7
	Horseshoes
	Science
	This multiple-choice question asks students to make a comparison between mule shoes and horseshoes.

	19
	Reading Achievement May 08
	C
	RP 4.7
	Horseshoes
	Science
	This multiple-choice question asks students to answer a literal question. Literal questions are those with an answer that is directly stated in the selection.

	20
	Reading Achievement May 08
	B
	IT 4.7
	Horseshoes
	Science
	This multiple-choice question asks students to differentiate between fact and opinion.

	21
	Reading Achievement May 08
	A
B
	AV 4.1,       AV 4.4
	Horseshoes
	Science
	This multiple-choice question asks students to select a synonym for the word plunged.


	22
	Reading Achievement May 08
	A
C
	RP 4.6, RP 4.7
	Horseshoes
	Science
	This extended-response question asks students to compare how horses were used in the city and on a farm.

	23
	Reading Achievement May 08
	B
	IT 4.4
	Horseshoes
	Science
	This multiple-choice question asks students to select the sentences that show a causal relationship.


BACK TO INDEX
Passage:
Mae C. Jemison

by Wade Hudson


At the Kennedy Space Center in Florida, scientists got ready for an exciting launch.  The space shuttle Endeavour was on the launch pad.  Its nose pointed straight up toward the clouds.  Inside, seven astronauts sat very still in their seats.  Each waited for Endeavour to blast off into space.  One of the astronauts was Mae C. Jemison.


Mae was born in Decatur, Georgia.  Her family moved to Chicago when she was very young.  Her parents told her to study hard and learn as much as she could.  Mae loved to learn.  She spent many hours in the library reading books about science and science fiction.


Mae grew up in the 1960s.  The whole country was excited about space travel and space exploration.  Like many other girls and boys, Mae wanted to be an astronaut.  But there were no women astronauts in America then.  There were no black astronauts, either.  So what were her chances?  Mae just kept on dreaming about exploring in space.  Nothing was going to stop her.


When she was sixteen, Mae graduated from high school.  Her grades were very good.  Stanford University gave her a scholarship and she went there.  Mae wanted to be a doctor, so she went to medical school.  Later Mae joined the Peace Corps to help needy people in other countries.  She went to Sierra Leone and Liberia in West Africa.  She used what she had learned in medical school to help the people there.


But Mae still dreamed of becoming an astronaut.  She returned to the United States in 1985.  She applied to the astronaut program at the National Aeronautics and Space Administration (NASA).


One day, in August 1987, a man from NASA called Jemison with great news.  Jemison had been chosen for the astronaut program.  She was very happy.  Nearly two thousand people had applied to the program.  Only fifteen had been selected.  Mae Jemison felt really special.


The training program was hard.  Astronauts must be strong and fit, so they exercise.  They study mathematics, earth resources, meteorology, guidance and navigation, astronomy, physics, and computers.  There is much to learn to get ready for space travel.


After training for a year, Mae C. Jemison was officially an astronaut.  She was eager to travel into space, but she had to wait her turn.  Finally, in 1991, she was selected for the space flight on the Endeavour.


Now Mae had to train for the trip.  She was chosen to be the science mission specialist.  She had experiments to do while in space.


The day finally arrived.  As Endeavour sped away from Earth, Mae C. Jemison became the first black woman to explore space.


It was a great day for this proud American.  She was very happy.  Her dream had come true.
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	36.

	What made Mae Jemison wonder whether she had any chance of becoming an astronaut?



	A.

	Mae had to study very hard.


	B.

	Space travel was very popular.


	C.

	There were no women astronauts.


	D.

	Mae had been born in Georgia. 



	
	


Commentary:

This multiple choice question asks students to answer a literal question based on information in the selection. Answer choice A is incorrect. Mae Jemison loved to learn, it was because of that drive that she was considered a possibility for becoming an astronaut. Answer choice B is incorrect. Space travel was very popular during the time that Jemison grew up, but that had little to do with her concerns about becoming an astronaut. Answer choice C is correct. When she was young she dreamed of being an astronaut, but knew there were no black or female astronauts. Answer choice D is incorrect. Her place of birth did not make her worry about whether she could be an astronaut.

Performance Data: 

The percent of public school students selecting answer choice C for question 36 on the March 2005 Grade 4 Reading Achievement Test was 65%.

Keywords:  Make Meaning, Questions

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                             IT 4.4
	Identify examples of cause and effect used in informational text. 


Extended Response Question:

	  37.
	Complete the chart with examples of cause and effect from the selection. 


Cause and Effect Chart

Cause

Effect

She went through a year of training.
She received a scholarship to college.
She loved to learn.
She joined the Peace Corps.




Commentary:

This extended response question asks students to identify causes and effects for certain aspects of Mae Jemison’s life.

Scoring Guidelines

	Points
	Student Response

	2
	Response contains four correct answers. 

Example: 

Cause

Effect

She went through a year of training.

She became an astronaut.

She got good grades.

She received a scholarship to college.

She loved to learn.

She spent many hours in the library.

She wanted to help people.

She joined the Peace Corps.



	1
	Response contains two or three correct answers. 

Example: 

(one answer from the above list)



	0
	Response contains only one correct answer or is incorrect.




Performance Data: 

The percent of public school students at each score point for question 37 on the March 2005 Grade 4 Reading Achievement Test was

	Performance at Each Score Point


  0

  1

 2


52%

41%

4%


Keywords:  Cause and Effect

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	38.

	Which detail from the selection supports the fact that it was difficult to be chosen for the astronaut program?


	A.

	Fifteen people were chosen from the 2,000 who applied to the space program.


	B.

	NASA’s training program was a year long.


	C.

	The astronauts had to study astronomy, mathematics and earth resources.


	D.

	The astronauts had to exercise to be strong.



	
	


Commentary:

This question asks students to identify the statement which supports a fact from the selection. In this case students are to select the answer choice that supports the idea that it is difficult to become an astronaut. An accurate choice shows that students have been able to make meaning while reading the selection. Answer choice A is correct. It shows how difficult and competitive it was to get into the astronaut program. Answer choice B is incorrect. The length of time of the training program had no bearing on why it was difficult to be chosen. Answer choice C is incorrect. The required coursework was open to anyone and was not considered to be a stumbling block. Answer choice D is incorrect. Exercising once you have become an astronaut has nothing to do with being chosen to be an astronaut.

Performance Data: 
The percent of public school students selecting answer choice A for question 38 on the March 2005 Grade 4 Reading Achievement Test was 62%.

Keywords:  Make Meaning, Questions

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                     AV 4.2
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple Choice Question:
39. “She was eager to travel into space, but she had to wait her turn.”


Which word is a synonym for eager?

A. excited

B. scared

C. curious

D. proud

Commentary:

This multiple choice question asks students to determine the meaning of a word based on the information in the given sentence. Once determined they are to select the correct synonym, or word that means about the same thing. Students choosing the correct synonym show that the student has a full understanding of word meaning. Answer choice A is correct. Eager can also be expressed as excited. Answer choice B is incorrect. Scared is an antonym of eager. Answer choice C is incorrect. Mae Jemison may have also been curious, but that is not a part of her eagerness. Answer choice D is incorrect. Mae was very proud she was selected, but that had little to do with her being eager or anxious to get started.

Performance Data: 

The percent of public school students selecting answer choice A for question 39 on the March 2005 Grade 4 Reading Achievement Test was 78%.

Keywords:  Context Clues

BACK TO INDEX
	Benchmark:     A
	Determine a purpose for reading and use a range or reading comprehension strategies to better understand text.

	GLI:            RP 4.6
	Select, create and use graphic organizers to interpret textual information.


Short Answer Question:

	40.

	Complete the timeline about Mae Jemison’s life. Use information from the selection.

[image: image1]


	
	


Commentary:

This constructed response question asks students to complete a timeline with the important events of Mae Jemison’s life.

Scoring Guidelines
	Points
	Student Response

	2
	Response contains four correct answers.

Example: 

· 1985- Mae Jemison returns from the Peace Corps. She applied for the astronaut program.

· 1987-Mae Jemison is accepted into the astronaut training program.

· 1988- Mae Jemison is officially an astronaut

· 1991- Mae Jemison is selected to be a member of the Endeavour crew.

	1
	Response contains two or three correct answers.

Example: 

(from the list above)

	0
	Response only contains one correct answer or is incorrect.


Performance Data: 

The percent of public school students at each score point for question 40 on the March 2005 Grade 4 Reading Achievement Test was

	Performance at Each Score Point


0

1

2


12%

56%

28%


Keywords:  Comprehension Strategies

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                             IT 4.4
	Identify examples of cause and effect used in informational text. 


Multiple Choice Question:

	41.

	Why did Mae Jemison go to Sierra Leone and Liberia?



	A.

	She wanted to become an astronaut.


	B.

	She wanted to go to another country.


	C.

	She wanted to attend to school there.


	D.

	She wanted to help the people there.



	
	


Commentary:

This multiple choice question asks students to determine the cause that led to Mae Jemison’s trip to the Sierra Leone and Liberia. They will be selecting the answer choice that has a causal relationship with her trip to Africa. Answer choice A is incorrect. Mae had just finished her degree in medicine and wanted to use her skill. Answer choice B is incorrect. She wanted to provide help to others in other countries. Her goal was not just to see other places. Answer choice C is incorrect. She had already graduated from medical school. Answer choice D is correct. She wanted to use what she had learned to help the people of Sierra Leone.

Performance Data: 

The percent of public school students selecting answer choice D for question 41 on the March 2005 Grade 4 Reading Achievement Test was 58%.

Keywords:  Cause and Effect

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                     IT 4.2
	Summarize main ideas in informational text, using supporting details as appropriate. 


Multiple Choice Question:

	42.

	What is the main idea of this selection?



	A.

	Mae Jemison worked hard and became the first black woman in space.


	B.

	Mae Jemison was the first black woman doctor to graduate from Stanford.


	C.

	Mae Jemison was the first woman to join the Peace Corps.


	D.

	Mae Jemison was the first woman doctor to go to Sierra Leone.



	
	


Commentary:

This multiple choice question asks students to identify the main idea of the reading selection. Students correctly answering this question exhibit full comprehension of the selection as well as the ability to identify the single concept which represents this informational piece in its entirety. Answer choice A is correct. It accurately reflects the essence of the story. Answer choice B is incorrect. There is no information in the selection to support this statement. Answer choice C is incorrect. She was not the first woman to joint the Peace Corps. Answer choice D is also incorrect. It is not true, nor does it reflect the main idea of the selection.

Performance Data: 

The percent of public school students selecting answer choice A for question 42 on the March 2005 Grade 4 Reading Achievement Test was 86%.

Keywords:  Main Idea

BACK TO INDEX
	Benchmark:     F
	Use multiple resources to enhance comprehension of vocabulary.

	GLI:                      AV 4.9
	Determine the meanings and pronunciations of unknown words by using dictionaries, glossaries, technology and textual features, such as definitional footnotes or sidebars.


Multiple Choice Question:

	43.

	“Astronauts must be strong and fit, so they exercise.”

Which definition of fit is used in this sentence? 

fit /f¥t/ 1) n. the right size. 2) v. to agree with. 3) v. to insert or adjust. 4) adj. healthy.



	A.

definition 1

B.

definition 2

C.

definition 3

D.

definition 4


	


Commentary:

This multiple choice question asks students to use the dictionary entry to determine the correct definition of fit as it appears in this sentence. Answer choice A is incorrect. Astronauts do not have to be a certain size. Answer choice B is incorrect. There is no evidence that astronauts have to agree with anything. The selection would have to include information that shows the astronauts connect to (or fitting with) something else for this to be an accurate definition. Answer choice C is incorrect. There is nothing that has to be inserted or adjusted before they can become astronauts. Answer choice D is correct. To become an astronaut, there is a training program that includes exercises to make them healthy. This information is clearly stated in the second sentence of the 7th paragraph of the selection.

Performance Data: 

The percent of public school students selecting answer choice D for question 43 on the March2005 Grade 4 Reading Achievement Test was 64%.

Keywords:  Resources, Dictionary

BACK TO INDEX
Passage:
Putting the Sun to Work

by Jeanne Bendick


It’s a hot summer day.  You, your family, and some friends decide to drive to a park near the beach for a cookout.


When you walk over to the beach, the sand and the rocks are so hot that they hurt your bare feet.  You put on sneakers in a hurry.


While the charcoal fire is starting to burn in the cookout stove, you go for a swim.  The water feels good.  It is warm at the top, but cooler down around your toes.  After you swim, you dry yourself with a towel.


For lunch there are hot dogs, corn, salad, rolls, and fruit.  By the time the corn and hot dogs are cooked, all the towels are dry.  You had spread them out on the rocks, in the sun.


While you were having fun at the beach, work was being done.  Energy from the sun was doing the work.


Heat energy from the sun dried the towels.  It heated the sand, the rocks, the water, and the air.

Solar Energy


As long as the sun shines, the earth will not run out of energy.  The sun pours more energy onto earth than we can ever use.  Most of that energy comes to us as heat and light.


Energy from the sun is called solar energy.  Anything to do with the sun is called “solar.”  The word began with the Roman word for the sun, which is sol.


Solar energy is a safe kind of energy.  It doesn’t cause pollution or have dangerous leftovers.  That is why scientists and inventors are trying different ways to capture and use the sun’s energy.  They hope to find a way for the sun to do some of the jobs other types of fuels have been doing for a long time.

To make the sun do work like that, scientists have to solve some problems.  They have to collect the sun’s energy.  Collecting sunshine isn’t easy, and sunshine isn’t easy to store, either.

Catching Sunshine


Is it possible to catch the sun’s heat in a house?  Yes, it is.  Some houses collect the sun’s heat on the roof, move the heat indoors, and store some of it to use later.  A house like that is called a solar house.


People who build solar houses have learned how to do those things by noticing how the earth itself uses solar energy.


Remember the beach we talked about earlier?  Remember the hot sand and the hot rocks?  Some materials take in heat energy from the sun and hold it.  These materials absorb the heat.  Sand and rocks do this.  So do some other solid materials, such as metal.  Water absorbs the sun’s heat, too.

Storing Heat


The longer it takes something to heat up, the longer that thing holds the heat.  Materials that heat up fast also cool off fast.


If you were to go back to the beach in the evening after sunset, the sand and the rocks, which heated up fast, would be cool.  The water, which heated up slowly, would still be warm.


Heat always moves from a warmer place or thing to a cooler one.


Remember when the hot sand on the beach burned your feet?  Heat from the sand was moving into your cooler feet!  Once you understand how heat moves into things, through things, and out of things, it is easy to see how a solar house works.

Keeping Heat in One Place

Once the house is warm, what keeps the heat from moving out of the warm house into the cool outside air?


Remember the sneakers you put on when the hot sand was burning your feet?  They kept the heat from moving from the sand into your feet.  The sneakers were insulation.  Insulation is any material that keeps heat (or other kinds of energy) from moving from place to place.


Insulation in a house keeps heat from moving out of the house in the winter.  It also keeps heat from moving into the house in the summer.


It does not take a lot of heat to make a house comfortable.  Solar energy can do that job in many areas of the world.

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	9.

	According to the selection, what are two challenges to using the sun’s energy?


	A.

	heating and cooling


	B.

	collection and storage


	C.

	pollution and leftovers


	D.

	absorbing and insulating



	
	


Commentary:

This multiple choice question asks students to locate information found in the selection relative to the sun’s energy. In this case they are to indicate which information shows the problems that come with using the sun as a heat source. Answer choice A is incorrect. These two conditions can be a positive result of using the sun’s energy. Answer choice B is correct. The fourth paragraph of the Solar Energy section validates this choice. Answer choice C is incorrect. These are a part of the negatives when using traditional energy sources. Answer choice D is incorrect. The selection states the importance of knowing how quickly material absorbs and/or insulates. Some materials absorb the sun’s energy while others insulate materials against it. These are qualities of specific materials, not problems related to using energy from the sun.

Performance Data: 

The percent of public school students selecting answer choice B for question 9 on the March 2005 Grade 4 Reading Achievement Test was 39%.

Keywords:  Making Meaning, Questions

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking, and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	10.

	How is the way sand and rocks heat up different from the way water heats up?


	A.

	Sand and rocks absorb the heat, and water does not.


	B.

	Sand and rocks heat up faster than water.


	C.

	Water loses heat faster than sand and rocks.


	D.

	Water is a good insulator, but sand and rocks are not.



	
	


Commentary:

In this multiple choice question students are to make a comparison between the way different materials respond to heat. In this case they are to identify the differences in the way sand and water absorb or insulate the heat. Answer choice A is incorrect. All of the materials absorb the heat. Answer choice B is correct. In the second paragraph of the Storing heat section it states, “…the sand and rocks, which heated up fast, would be cool. The water, which heated up slowly, would be still warm.” Answer choice C is incorrect. The opposite is true. Answer choice D is incorrect as well. An insulator is anything that keeps heat from moving from one place to another. Water is not an insulator.

Performance Data: 

The percent of public school students selecting answer choice B for question 10 on the March 2005 Grade 4 Reading Achievement Test was 64%.

Keywords:  Comprehension, Comparisons

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                             IT 4.4
	Identify examples of cause and effect used in informational text. 


Multiple Choice Question:

	11.

	What is an example of cause and effect from the selection?


	A.

	While the charcoal fire is starting to burn in the cookout stove, you go for a swim.


	B.

	The word began with the Roman word for the sun, which is sol.


	C.

	Collecting sunshine isn’t easy, and sunshine isn’t easy to store, either.


	D.

	The longer it takes something to heat up, the longer that thing holds the heat.



	
	


Commentary:

This multiple choice question asks students to identify a statement based on information the read in the selection that reflects a causal relationship. Answer choice A is incorrect. The charcoal fire does not cause you to go for a swim. Answer choice B is incorrect. While it is true that the word solar comes from the Roman word for sun, sol, it is not a causal relationship. The Roman word was not the cause of the word sun.  Answer choice C is also incorrect. Both of the statements are true according to the selection, but neither causes the other to occur. Answer choice D is correct; it shows a there is a causal relationship between the amount of time it takes to heat and the amount of time it takes to lose heat.

Performance Data: 

The percent of public school students selecting answer choice D for question 11 on the March 2005 Grade 4 Reading Achievement Test was 60%.

Keywords:  Cause and Effect

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking, and responding to a variety of questions related to text.

	GLI:                       RP 4.5
	Make inferences or draw conclusions about what has been read and support those conclusions with textual evidence.


Short Answer Question:

	12.

	What are two benefits of solar energy? Use information from the selection in your answer.

A.

B.



	
	


Commentary:

This constructed response question asks students to use information in the text to answer a question about solar energy.

Scoring Guidelines
	Points
	Student Response

	2
	Response contains two correct answers.

Example:

It is not dangerous.

We will never run out of it as long as the sun keeps shining.

It is free.

It does not pollute the environment.

	1
	Response contains one correct answer.

Example:

(one answer from the list above)

	0
	Response is incorrect.


Performance Data: 

The percent of public school students at each score point for question 12 on the March 2005 Grade 4 Reading Achievement Test was:

	Performance at Each Score Point


  0

  1

  2


36%

35%

25%


Keywords:  Questions, Make Meaning

BACK TO INDEX
	Benchmark:     F
	Use multiple resources to enhance comprehension of vocabulary.

	GLI:                      AV 4.9
	Determine the meanings and pronunciations of unknown words by using dictionaries, glossaries, technology and textual features, such as definitional footnotes or sidebars.


Multiple Choice Question:

	13.

	“Some houses collect the sun’s heat on the roof, move the heat indoors, and store some of it to use later.”

Which meaning of the word store is used in the sentence?

store /stôr/ 1) n. a place where goods are sold.  2) n. importance or value.  3) v. to put away for future use. 4) v. to supply what is needed.


	A.

	definition 1


	B.

	definition 2


	C.

	definition 3


	D.

	definition 4



	
	


Commentary:

This multiple choice question asks students to use a dictionary entry to determine the correct meaning for the word store. Answer choice A is incorrect. Solar energy is not sold or purchased, as this first definition would indicate. Answer choice B is incorrect. This definition does not fit the structure or meaning of the sentence. Answer choice C is correct. The selection and this excerpt specifically address the correct meaning of the word store. Answer choice D is incorrect. The excerpt is not addressing a supply and demand situation.

Performance Data: 

The percent of public school students selecting answer choice C for question 13 on the March 2005 Grade 4 Reading Achievement Test was 60%.

Keywords:  Resources, Dictionary
BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                             IT 4.4
	Identify examples of cause and effect used in informational text. 


Multiple Choice Question:
14.   Why do people burn their feet on the sand at the beach?

A. Their feet are slippery.

B. Their feet are wet.

C. The sand absorbs heat.

D. The sand is a solid.

Commentary:

This multiple choice question asks students to identify a cause for a specific event or incident. In this case students are asked to identify the reason that people’s feet get burned on the sand at the beach. Answer choice A is incorrect. Having slippery feet is not related to the heat or burning. Answer choice B is incorrect. Wet feet are not related to getting burned. Answer choice C is correct. Because the sand absorbs the heat of the sun, it can burn the bottom of a person’s feet. Answer choice D is incorrect. The physical nature of the sand is not the cause of getting burned.

Performance Data: 

The percent of public school students selecting answer choice D for question 14 on the March 2005 Grade 4 Reading Achievement Test was 93%.

Keywords:  Cause and Effect

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	15.

	What helps keep a house warm in the winter and cool in the summer?



	A.

absorption

B.

heat

C.

air-conditioning

D.

insulation


	


Commentary:

This multiple choice question asks students to identify the material or action that keeps a house warm in winter and cool in summer. Answer choice A is incorrect. There are materials that absorb heat, but this would negatively impact keeping a house warm, not help it.. Answer choice B is incorrect. Heat does not keep a house cool in the summer. Answer choice C is incorrect. Air-conditioning is forced air temperature unrelated to solar energy. It does not keep a house warm in the winter. Answer choice D is correct. Insulation is any material that keeps heat from moving from place to place.

Performance Data: 

The percent of public school students selecting answer choice D for question 15 on the March 2005 Grade 4 Reading Achievement Test was 58%.

Keywords:  Questions


BACK TO INDEX
	Benchmark:     C
	Explain how main ideas connect to each other in a variety of sources.

	GLI:                              IT 4.3
	Locate important details about a topic using different sources of information including books, magazines, newspapers and online resources.


Extended Response Question:

	16.

	Write a sentence to explain what is described in each section of the selection. 

Solar Energy

Catching Sunshine

Storing Heat

Keeping Heat in One Place



	


Commentary:

This extended response question asks students to provide a summary for the sections that fall under each subheading.

Scoring Guidelines
	Points
	Student Response

	4
	Response contains four correct answers.

Example:

Solar Energy: Energy from the sun is called solar energy, it doesn’t cause pollution, it works for us, and scientists want to store it.

Catching Sunshine: You can catch the sun’s heat in a house, and some materials can absorb heat.

Storing Heat: Heat moves into things and out of things depending on how long it takes something to heat up.

Keeping Heat in One Place: Insulation keeps heat in one place, which is why a solar house can hold heat and sneakers keep heat from moving into your feet when you wear them.

	3
	Response contains three correct answers.

Example:

(three answers from the list above)

	2
	Response contains two correct answers.

Example:

(two answers from the list above)

	1
	Response contains one correct answer.

Example:

(one answer from the list above)

	0
	Response is incorrect.


Performance Data: 

The percent of public school students at each score point for question 16 on the March 2005 Grade 4 Reading Achievement Test was:

	Performance at Each Score Point


0

1

2

3

4


11%

17%

24%

26%

21%


Keywords:  Summary

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                     AV 4.2
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple Choice Question:

17. “The water feels good. It is warm at the top, but cooler down around your toes.” 
Which word pair is an example of antonyms?
A. warm and cooler

B. good and cooler

C. toes and down

D. warm and around

Commentary:
This question asks students to use the meanings of words in word pairs to determine which set contains antonyms. Answer choice A is correct. The words warm and cool are antonyms or have opposite meanings. Answer choice B is incorrect. There is no relationship between good and cooler. Answer choice C is also incorrect. There is no relationship between toes and down. Answer choice D is incorrect. Warm and around are not antonyms.

Performance Data:

The percent of public school students selecting answer choice A for question 17 on the March 2005 Grade 4 Reading Achievement Test was 85%.

Keywords:  Context Clues, New Vocabulary, Antonyms

BACK TO INDEX
Passage:

River to the Sea 
by Stephen R. Swinburne

I live beside the West River in Vermont. It’s deep enough to swim in and as wide as a two-lane road. I’ve fished and skimmed stones on the West River. But I didn’t know where it began or where it ended. I decided to find out.


Rivers often start in the mountains with no more than a trickle. Rain, melting snow, and water from springs have nowhere to go but down. As trickles follow the easiest paths down, they combine to form brooks. Brooks join to become streams, and streams meet to become rivers. As more and more water joins a river, it gets wider and deeper and faster.


That’s what happens to the West River. I followed a map to learn this. I drove into the wooded hills about fifteen miles north of my house. I saw that the West River begins as a dribble, skinny as a pencil. By the time it reaches my town, it has become a river.


Rivers work hard. They’re great diggers. The swift current of a river is a watery shovel digging up pebbles, silt, and sand. Rivers are also carriers. They carry lots of rocks and sand downstream.


Rivers are great places to see fish, insects, and other wildlife. Lots of animals and birds live near rivers because there’s a good food supply, plenty of drinking water, nesting places, and shelter. To see wildlife, I step quietly. I never know what might be around the next bend — a deer and fawn drinking, a family of ducks, a dragonfly skimming the water hunting mosquitoes. Rivers are a source of life to many creatures.


Most rivers eventually empty into the sea. Once again, I got into my car with a map, this time to see where the West River goes. I followed it through the countryside of southern Vermont to find that it merges with the wide Connecticut River. The Connecticut River flows out of Vermont, south into Massachusetts, then into Connecticut. It finally joins Long Island Sound and the Atlantic Ocean.


The river outside my door is connected to faraway places. It’s neat to know that if I launched a sturdy boat into the river by my house, someday it might reach the open sea. That’s the best thing about a river. It’s water on the move, and it knows just where to go.
BACK TO INDEX
	Benchmark:     C

Benchmark:

A
	Make meaning through asking, and responding to a variety of questions related to text.

Use text features and graphics to organize, analyze and draw inferences from content and to gain additional information

	GLI:                                IT 4.5,              RP 4.7
	IT 4.5:    Draw conclusions from information in maps, charts, graphs and diagrams.

RP 4.7:   Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
36. Where does the West River begin?

A. Connecticut

B. Vermont

C. Massachusetts

D. Long Island

Commentary:
This multiple choice question asks students to sow they are making meaning by answering a literal question based on information in the text. Answer choice A is incorrect. The West River joins the Connecticut River, but does not originate in Connecticut. Answer choice B is correct. Both the first sentence and the graphic indicate the starting point of the river is in Vermont. Answer choice C is incorrect. The river runs through Massachusetts. Answer choice D is incorrect. Once it has joined the Connecticut River, the West River spills into Long Island Sound. It never moves through Long Island itself.

Performance Data:
The percent of public school students selecting answer choice B for question 36 on the Ohio Grade Four Reading Achievement Test March 2006 was 79%.

Keywords:  Responding to questions, making meaning

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
37. According to the selection, how does a river become wider and deeper?

A. by carrying lots of rocks downstream

B. by adding more water from streams

C. by moving very slowly

D. by joining sounds and seas

Commentary:
This multiple choice question asks students to use reading comprehension strategies to summarize paragraph two of the selection. Answer choice A is incorrect. Rivers carry rocks, but these do not make them wider. Answer choice B is correct. As a river travels, other brooks and streams join to make the river wider and deeper. Answer choice C is incorrect. Rivers move very quickly. Answer choice D is incorrect. Rivers eventually end up dumping into the sea, not joining the sea.

Performance Data:
The percent of public school students selecting answer choice B for question 37 on the Ohio Grade Four Reading Achievement Test March 2006 was 65%.

Keywords:  Reading Comprehension, Text Information


BACK TO INDEX
	Benchmark:     B
	Infer word meaning through identification and analysis of analogies and other word relationships.

	GL:                           AV 4.5
	Identify and understand new uses of words and phrases in text, such as similes and metaphors.


Multiple Choice Question:
38. “I live beside the West River in Vermont. It’s deep enough to swim in and as wide as a two-lane road. I’ve fished and skimmed stones on the West River.”


What phrase in these sentences is a simile?

A. beside the West River

B. deep enough to swim in

C. as wide as a two-lane road

D. fished and skimmed stones

Commentary:
This multiple choice question asks students to determine which statement in these two sentences from the selection is a simile. A simile is defined as a word relationship comparing unlike things by using the words like or as. Answer choice A is incorrect. “Beside the deep river”, is a descriptive statement, giving location. Answer choice B is incorrect. “Deep enough to swim in” is a descriptive statement without an analogical relationship. Answer choice C is correct. The phrase “as wide as a two lane road” compares the river to a road. Using as in the comparison makes it a simile. Answer choice D is incorrect. “Fished and skimmed stones,” describes the author’s actions.

Performance Data:
The percent of public school students selecting answer choice C for question 38 on the Ohio Grade Four Reading Achievement Test March 2006 was 61%.

Keywords:  word relationships, analogies, similes

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                             IT 4.4
	Identify examples of cause and effect used in informational text. 


Short Answer Question:
39. What are two effects of the river’s swiftly moving current?

A. _____________________________________________________

B. _____________________________________________________

Commentary:
This short answer question asks the students to recall how rivers become deeper and faster. Then they are to identify and list the effects of that movement. Establishing a causal relationship is a skill critical not only to reading but across content areas.

Performance Data:
The percent of public school students at each score point for question 16 on the March 2006 Ohio Grade 4 Reading Achievement Test was:

	Performance at Each Score Point

	0
	1
	2

	59%
	23%
	15%


Scoring Guidelines
	Points
	Student Response

	2
	Response contains both correct answers.

Example:

1. It digs up pebbles, silt and sand. AND
2. The current carries rocks and sand downstream.

	1
	Response is partially correct.

Example:

1. It digs up pebbles, silt and sand. OR
2. The current carries rocks and sand downstream.

	0
	Response is incorrect.


Keywords:  cause and effect, analyze text

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                     IT 4.2
	Summarize main ideas in informational text, using supporting details as appropriate. 


Multiple Choice Question:
40. Why did the author write this selection?

A. to encourage us to take part in water sports in rivers and streams

B. to entertain us with tales of his boyhood fun along the rive

C. to tell what he learned about a river from its beginning to its end

D. to explain how a river becomes polluted and endangered

Commentary:
This multiple choice question asks students to determine the relationship between the author and the main idea of the selection. Answer choice A is incorrect. There is no mention of water sports. Answer choice B is incorrect. The author is writing an informative, not entertaining piece. Answer choice C is correct. This selection gives the reader information about river development. Answer choice D is incorrect. The selection is not about how the river is ecologically impacted.

Performance Data:
The percent of public school students selecting answer choice C for question 40 on the Ohio Grade Four Reading Achievement Test March 2006 was 74%.

Keywords:  Main idea

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                    IT 4.7
	Distinguish fact from opinion.


Multiple Choice Question:
41. Which of these sentences is an opinion?

A. “As trickles follow the easiest paths down, they combine to form brooks.”

B. “Rivers work hard. They’re great diggers.”

C. “Rivers are also carriers. They carry rocks and sand downstream.”

D. “The Connecticut River flows out of Vermont, south into Massachusetts, then into Connecticut.”

Commentary:
This multiple choice question asks students to read a series of statements from the selection and choose the one that is an opinion (not factual). Answer choice A is incorrect. While descriptive, this is a statement of fact. Answer choice B is correct. The word great cannot be proven as fact. Answer choice C is incorrect. This is an informative statement. Answer choice D is incorrect. This is a factual statement about the route of the river.

Performance Data:
The percent of public school students selecting answer choice B for question 41 on the Ohio Grade Four Reading Achievement Test March 2006 was 70%.

Keywords:  Fact and opinion

BACK TO INDEX
	Benchmark:     A
	Determine a purpose for reading and use a range of reading comprehension strategies to better understand text.



	GLI:            RP 4.6
	Select, create and use graphic organizers to interpret textual information.


Short Answer Question:
42.    Complete the web with ways the river helps animals survive. Use information from the selection in your answer.

[image: image2.wmf] 

 

 

The River is a 

Source of Life

 


Commentary:
This short answer question asks students to show their comprehension by filling details into the web. 

Performance Data:
The percent of public school students at each score point on the October 2005 Grade 3 Ohio Reading Achievement test was

	Performance at Each Score Point

	0
	1
	2

	25%
	44%
	29%


Scoring Guidelines:

	Points
	Student Response

	2
	Response contains four correct answers.

Example:

Food supply, drinking water, shelter, nesting place

	1
	Response contains two or three correct answers.

Example:

Food supply, drinking water, shelter

	0
	Response contains one or no correct answer.

Example:

Food supply


Keywords:  comprehension strategies

BACK TO INDEX
	Benchmark:     A

B
	Use context clues and text structures to determine the meaning of new vocabulary.

Infer word meaning through identification and analysis of analogies and other word relationships.

	GLI:                      AV 4.2,          AV 4.4
	AV 4.2:     Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.
AV 4.4:      Identify and apply the meaning of the terms synonym, antonym, homophone and homograph.


Multiple Choice Question:
43. Which of these word pairs are synonyms from the selection?

A. dribble and trickle

B. wider and faster

C. rain and snow

D. diggers and carriers

Commentary:
This multiple choice item asks students to read a set of word pairs and determine which word pair is synonymous. Answer choice A is correct. Both dribble and trickle share the same meaning. Answer choice B is incorrect. The word wider relates to size and faster to speed. Answer choice C is incorrect.  Rain and snow are both weather elements, but their physical 
nature is different; the words are not synonymous. Answer choice D is incorrect. Diggers and carriers suggest two types of movement.

Performance Data:
The percent of public school students selecting answer choice A for question 43 on the Ohio Grade Four Reading Achievement Test March 2006 was 52%.

Keywords:  Synonyms

BACK TO INDEX
Passage:

The Apple-Seed Man
by Paula Appling


Imagine sleeping on a bed of earth with the sky as your roof. Imagine birds and wolves and snakes as your only companions or weeks. Imagine eating nuts and berries and roots that you’ve freshly harvested and prepared.


John Chapman chose this life for most of his seventy-one years.


John Chapman was born in 1774 in the village of Leominster, Massachusetts, just before the Revolutionary War for independence from Britain began. It was autumn, the time of year when apples are harvested and cider is made.


When he was about six, John’s family moved southwest to Long meadow, Massachusetts. The young boy probably learned his letters in a one-room schoolhouse.


In the 1790s, the United States included the eastern states and land south of the Great Lakes and west to the Mississippi River. The Northwest Territory—the land west of Pennsylvania between the Ohio and Mississippi rivers—was just opening up for settlement. Men who had fought in the Revolutionary War were seeking new opportunities and heading west. John Chapman, now a young man, decided to join them.


John took with him little more than his knowledge of planting apple orchards and his faith.


John dedicated his life to helping people. He planted apple orchards so families who followed him out west would have food. He read to families he visited, or left books with them. He loved children and would talk to them and listen to their stories. He gained the respect of the Indians he met as he traveled the woods and rivers of the new territories.


John gathered apple seeds whenever he could. Sometimes he collected them from cider mills. He would separate the seeds from the apple pulp, then wash and dry them. He walked the land that pioneers would eventually come to and planted orchards for their benefit.


If John came upon a pioneer family at a time that was not right for planting, he might leave a bag of seeds with them. The children would always want to know how long it would be until the seeds turned into apples.


John planted trees wherever he went, usually in clearings near rivers or streams. He surrounded his plantings with natural fences of brush and branches to keep animals away.


Sometimes he let the trees grow right where he had planted them. But usually he’d return after two years and take the saplings, pack them carefully, and leave them at a way station, with a family, or at an inn, in exchange for clothing, food, or money. Sometimes he gave the trees away.


John Chapman planted thousands of apple trees as far west as Indiana. His unusual ways, kindness, and giving heart made him known to pioneers he had never met. You might know him by his other, more popular name: Johnny Appleseed.

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

21. What made John Chapman decide to head west?

A. He wanted to join people who were looking for new opportunities.

B. He wanted to teach the Indians how to grow and harvest apples.

C. He wanted to teach in a one-room schoolhouse.

D. He wanted to collect thousands of apple seeds to take back east.

Commentary:
This item asks students to answer a literal question about John Chapman. A literal question is one that has its answer directly stated in the selection. Students at the 4th grade level are expected to answer literal, inferential and evaluative questions to demonstrate comprehension according to the Grade 4 Ohio Academic Content Standards in English Language Arts. Answer choice A is correct. The selection directly states that John decided to head west because he wanted to join men who were going west to look for new opportunities. Answer choice B is incorrect. John did meet Indians in his travels but did not teach them how to grow or harvest apples. Answer choice C is incorrect. John spent time as a student in a one-room schoolhouse, but never taught in one. Answer choice D is incorrect. There is no evidence that John wanted to take any of his seeds back east.
Performance Data:

The percent of public school students selecting answer choice A for question 21 on the May 2007 Grade 4 Reading Achievement was 61%.

Keywords:  literal questions, demonstrate comprehension

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

22. Where did John usually plant trees?

A. in the middle of thick woods

B. on the bare tops of mountains and hills

C. in clearings near rivers and streams

D. at inns and way stations

Commentary:
This item asks students to answer a literal question about John Chapman. A literal question is one that has its answer directly stated in the selection. Students at the 4th grade level are expected to answer literal, inferential and evaluative questions to demonstrate comprehension according to the Grade 4 Ohio Academic Content Standards in English Language Arts. Answer choice A is incorrect. John lived in and traveled through the woods, but did not plant seeds in those areas.  Answer choice B is incorrect. There is no evidence in the text that John planted trees atop mountains or hills. Answer choice C is correct. John traveled to many places, but the text directly states that he planted near rivers and streams. Answer choice D is incorrect. John did spend time at inns and way stations and would sometime leave saplings there, but he did not plant seeds in these places. 

Performance Data:

The percent of public school students selecting answer choice C for question 22 on the May 2007 Grade 4 Reading Achievement was 78%.

Keywords:  literal questions, demonstrate comprehension

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:              RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

23. How did John usually get things he needed, such as clothes and food?

A. He planted trees.

B. He traded saplings for them.

C. He asked for them at way stations and inns.

D. He performed odd jobs on farms to earn money.

Commentary:
This item asks students to answer a literal question about John Chapman. A literal question is one that has its answer directly stated in the selection. Students at the 4th grade level are expected to answer literal, inferential and evaluative questions to demonstrate comprehension according to the Grade 4 Ohio Academic Content Standards in English Language Arts. Answer choice A is incorrect. John planted trees and orchards wherever he went, but did not do so in exchange for clothes or food.  Answer choice B is correct. The selection directly states that John traded the saplings in paragraph 11. Answer choice C is incorrect. John did leave saplings at way stations and inns, but he did not ask for food or clothes. Answer choice D is incorrect. John planted apple orchards and gave apple seeds to many pioneer families; however he did not do this work to earn money.

Performance Data:

The percent of public school students selecting answer choice B for question 23 on the May 2007 Grade 4 Reading Achievement was 68%.

Keywords:  literal questions, demonstrate comprehension

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                     IT 4.2
	Summarize main ideas in informational text, using supporting details as appropriate. 


Extended Response Question: 

24. Use the selection to explain how John Chapman collected and prepared apple seeds.


Use the selection to explain how John Chapman planted and cared for the apple trees. 


Commentary:
In this question, students need to provide details from the selection that support or back up a summary statement of the selection. Students at the 4th grade level are expected to summarize main ideas in informational text, using supporting details as appropriate according to the Grade 4 Ohio Academic Content Standards in English Language Arts.

Scoring Guidelines
	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 point
	Points awarded for a complete and accurate statement.

Response includes two or more of the following details pertaining to how John Chapman collected and prepared apple seeds.

· He collected seeds from cider mills.

· He removed seeds from the apple pulp.

· He washed and dried the seeds

And two or more of the following details pertaining to how John Chapman planted and cared for apple trees.

· He planted at the right time of year.

· He surrounded his trees with natural fences of brush and branches.

· He moved (and replanted) young trees/saplings after two years.

· He saved seeds until he was ready to plant them (or instructed pioneer families to do the same).

	3 point
	Points awarded for a mostly complete and largely accurate statement.

Response includes two or more correct details for one section and only one correct detail for the other section.

Points awarded for a partially complete and somewhat inaccurate statement.

	2 point
	Response includes two correct details for one section and no correct details for the other section OR one correct detail for each section.

Point awarded for a largely incomplete and mostly inaccurate statement.

	1 point
	Response includes only one correct detail for one section

No point awarded if a statement is non-existent or completely inaccurate.

	0 point
	Response does not contain any correct details for either section, is incomplete, irrelevant or blank.


Performance Data:

The percent of public school students earning each score point for question 24 on the May 2007 Grade 4 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	36%
	
	19%
	
	18%
	
	16%
	
	10%


Keywords:  summary, supporting details

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                    IT 4.7
	Distinguish fact from opinion.


Multiple Choice Question: 

25. Which of these statements is an opinion?

A. John Chapman has unusual ways.

B. John Chapman was born in 1744.

C. John Chapman left books with families.

D. John Chapman planted as far west as Indiana.

Commentary:
This question asks students to decide whether four given sentences from the story are statements of fact or opinion. Students at the 4th grade level are expected to recognize the distinguish fact from opinion according to the Grade 4 Ohio Academic Content Standards in English Arts. Answer choice A is correct. An opinion is a statement of belief that cannot be proven. This is an opinion because what is unusual for some people may not be unusual for others. Answer choice B is incorrect. This statement is factual and can be proven by looking at informational resources. Answer choice C is incorrect. John’s generosity with his things can be proven through historical accounts of his life. Answer choice D is incorrect. How far John traveled in his apple-planting journeys can be checked through historical accounts of his life.

Performance Data:
The percent of public school students selecting answer choice A for question 25 on the May 2007 Grade 4 Reading Achievement was 76%.

Keywords:  fact, opinion

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                     IT 4.2
	Summarize main ideas in informational text, using supporting details as appropriate. 


Multiple Choice Question: 

26. What is the main idea of this selection?

A. John Chapman was born in Massachusetts but moved west as a young man.

B. John Chapman spent his life helping people by planting apple seeds.

C. The Northwest Territory was an exciting place full of opportunity.

D. Apples are a delicious and an important food well-loved by Americans.

Commentary:
This question asks student to decide which of the given summary statements reflects the main idea of “The Apple Seed Man”. Students at the 4th grade level are expected to summarize main ideas in informational text, using supporting details as appropriate. Answer choice A is incorrect. These facts about John Chapman’s life are included in the text, but this sentence reflects information only about his youth. Answer choice B is correct. The selection gives information about John’s early childhood and youth and the opportunities available in the Northwest Territory, but the main idea that all of these details support is that John spent his life working to help people by planting apple orchards. Answer choice C is incorrect. This information about the opportunities found in the Northwest Territory is mentioned in the selection, but appears only in the fifth paragraph. Answer choice D is incorrect. This sentence is about the way the apples taste and their popularity in America instead of how John Chapman worked hard to plant apple orchards and to help people.

Performance Data:
The percent of public school students selecting answer choice B for question 26 on the May 2007 Grade 4 Reading Achievement was 85%.

Keywords:  main idea, summary, details

BACK TO INDEX
	Benchmark:     E
	Use knowledge of roots and affixes to determine the meanings of complex words.

	GLI:                      AV 4.7
	Identify the meanings of prefixes, suffixes and roots and their various forms to determine the meanings of words.


Multiple Choice Question: 

27. “John took with him little more than his knowledge of planting apple orchards and his faith.”

What is the root of the word knowledge?

A. owl

B. ledge

C. know

D. now

Commentary:
In this question, students need to understand the root word “know” to determine the meaning of the word knowledge. Students at the 4th grade level are expected to identify the meanings of prefixes, suffixes and roots and their various forms to determine the meanings of words. Answer choice A is incorrect. The word ‘owl’ can be found in ‘knowledge,’ but the definition of ‘owl’ (a type of bird) does not help the student understand the meaning of the word ‘knowledge’ in the sentence above. Answer choice B is incorrect. The word ‘ledge’ can be found in ‘knowledge,’ but the definition of ledge, ‘a narrow edge or shelf’ does not help the student understand the meaning of the word ‘knowledge’ in the sentence above. Answer choice C is correct. The word ‘know’ means ‘to be aware’ or ‘to understand’ and is the root word of knowledge. Answer choice D is incorrect. The word ‘now’ can be found in ‘knowledge’ but the definition of now, at the present time, does not help the reader understand the meaning of the word ‘knowledge’ in the sentence above.

Performance Data:

The percent of public school students selecting answer choice C for question 27 on the May 2007 Grade 4 Reading Achievement was 76%.

Keywords:  root words

BACK TO INDEX
Passage:

Horseshoes
By Earl M. Weber

For hundreds of years, horses, mules, and even oxen have been shod with iron shoes. A horseshoe is usually shaped like a U and forged to fit the horse’s hoof. A mule shoe is similar, but longer and narrower since that’s the shape of a mule’s hoof. Because the ox has two toes instead of one, it must have two shoes for each foot, a left and a right.

These animals never wore shoes when they were in the wild, so why is it necessary now? There are several answers. Before the animals were domesticated, they didn’t have to carry heavy loads on their backs, such as a knight in full armor and weapons, weighing four or five hundred pounds. Nor were they asked to pull heavy loads, like a wagonload of hay weighing several tons. And when they roamed free, they didn’t travel miles on hard roads that wear down hoofs. Shoes are necessary, then, to protect the animals’ feet and provide better traction when pulling loads.

Before the days of automobiles and eighteen-wheel trucks, horses were used to transport people and goods. Teams of four or six large horses pulled stagecoaches and heavy freight wagons. Horses, mules, and oxen were used on farms to plow fields and harvest crops. In cities and towns, horses pulled milk wagons and bread wagons through the streets.

With so many hoofs needing shoes, blacksmith shops were everywhere. The blacksmith with his forge and anvil did all kinds of work with iron. He made and repaired implements for farm and home. He also made horseshoes and nailed them on horses” feet. People would bring their horses to the blacksmith shop to have them fitted with new shoes. Because horses” hoofs grow, much like our fingernails, the horses needed to have their hoofs trimmed and their shoes refitted about every two months.

Children gathered at the blacksmith shop to watch the smith as he placed an iron bar in the coals of his forge and pumped the bellows until the iron was red-hot. Using tongs, he took the hot iron from the fire and held it on the anvil. As the smith hit the iron with his heavy hammer, the anvil rang like a bell, and sparks flew like fireworks. When the shoe was properly shaped, the smith plunged it into a tub of water. The hot iron sizzled and steamed as it hit the cold water.

Today, most farmers use modern tractors instead of horses or mules. However, people still own horses. Most horses are no longer the heavy draft horses of the past but lighter breeds used for pleasure riding. Horse shows, jumping events, rodeos, and trail riding are popular sports. And horses who take part in these activities still need shoes.

Just as athletes need specialized footwear, horses need the right shoes to do their jobs well. After all, they are athletes, too. Racehorses wear flat, lightweight shoes called racing plates. Horses that have to use paved roads wear special shoes that prevent slipping.
BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:             IT 4.2
	Summarize main ideas in informational text, using supporting details as appropriate. 


Multiple Choice Question: 

15. The set of details below is from the selection.

Details

Horses transported people and goods.

Horses, mules and oxen plowed fields.

Horses pulled milk and bread wagons.

Which main idea is supported by the set of details above?

A. Before the days of automobiles, horses and mules did not need horseshoes.

B. Before the days of automobiles, horses and mules had many jobs.

C. People would not have survived without horses.

D. People would have had to work much harder without horses.

Commentary:
This question asks students to determine which of the answer choices is the main idea that is supported by the given details. Answer choice A is incorrect. The three sentences do not provide a timeline or reference to a time before cars and the resources needed by horses and mules. Answer choice B is correct. Each of the given statements provides a detail about the kind of work that horses and mules once did. Answer choice C is incorrect. This generalization is an opinion and is not supported by the given details. Answer choice D is incorrect. This may be a true statement, but it is not one of the main ideas of this selection.

Performance Data:

The percent of public school students selecting answer choice B for question 15 on the May 2008 Grade 4 Reading Achievement Test was 60%.

Keywords:  main idea, supporting details

BACK TO INDEX
	Benchmark:     B
	Infer word meaning through identification and analysis of analogies and other word relationships.

	GLI:                                 AV 4.5
	Identify and understand new uses of words and phrases in text, such as similes and metaphors.


Multiple Choice Question: 

16. “Using tongs, he took the hot iron from the fire and held it on the anvil. As the smith hit the iron with his heavy hammer, the anvil rang like a bell, and sparks flew like fireworks.”

Which phrase from the sentences above is an example of a simile?

A. held it on the anvil

B. using tongs

C. rang like a bell

D. with his heavy hammer

Commentary:
This question asks students to determine which of the given phrases is a form of figurative language called a simile. A simile is a comparison of two things which are unlike using the words like or as. Answer choice A is incorrect. This is a straightforward description of the actions of the blacksmith. Answer choice B is incorrect. This phrase identifies one of the tools that the blacksmith uses. Answer choice C is correct. The author is comparing the sound of the hammer hitting the anvil to that of a bell. Answer choice D is incorrect. This phrase describes another tool being used by the blacksmith.

Performance Data:

The percent of public school students selecting answer choice C for question 16 on the May 2008 Grade 4 Reading Achievement Test was 73%.

Keywords:  simile, figurative language

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:                                 RP 4.5
	Make inferences or draw conclusions about what has been read and support those conclusions with textual evidence.


Short Answer Question: 

17. Give two reasons why wild horses do not need horseshoes. Use information from the selection in your answer.

a. 



b.


Commentary:
This question asks students to compare wild horses to domesticated horses and determine why wild horses do not need horse shoes. Information about why domesticated horses need shoes is provided in the selection. The comparison can be made using that information.

Scoring Guidelines:
	Point
	Student Response

	2
	Response contains two correct answers.

Example:

They don’t travel on hard roads.

They don’t have to carry heavy loads.

They did not do hard labor.

It was not as important for them to have traction.

	1
	Response contains one correct answer.

Example

They don’t travel on hard roads.

	0
	Response is incorrect.


Performance Data:

The percent of public school students at each score point for question 17 on the May 2008 Grade 4 Reading Achievement Test was
	Percent at Each Score Point


      0
     1
      2


27%

     36%

    36%


Keywords:  comparisons

BACK TO INDEX
	Benchmark:

A

Benchmark:     C
	Use text features and graphics to organize, analyze and draw inferences from content and to gain additional information

Make meaning through asking, and responding to a variety of questions related to text.

	GLI:                                 IT 4.5,        RP 4.7
	IT 4.5:     Draw conclusions from information in maps, charts, graphs and diagrams.

RP 4.7:   Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question: 

18. How are horseshoes and mule shoes different?
A. They are made out of different materials.

B. They are different shapes.

C. They are different lengths.

D. They are used for different purposes.

Commentary:
This question asks students to make a comparison between mule shoes and horseshoes. Comparing information (noting similarities and differences) demonstrates comprehension of what has been read. Answer choice A is incorrect. Both sets of horseshoes are made out of iron. Answer choice B is incorrect. Both a horseshoe and a mule shoe are shaped like a U. Answer choice C is correct. A mule’s shoe is longer and narrower than a horse’s because of the shape of its hoof. Answer choice D is incorrect. The horse and mule use their hoofs and shoes for the same purposes.

Performance Data:

The percent of public school students selecting answer choice C for question 18 on the May 2008 Grade 4 Reading Achievement Test was 67%.

Keywords:  comparison, comprehension
BACK TO INDEX
	Benchmark:   C   
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                                      RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question: 

19. According to the selection, part of a blacksmith’s job was to make shoes for horses. What was the other part of the blacksmith’s job?
A. to train mules

B. to repair things

C. to deliver milk

D. to race horses

Commentary:

This question asks students to answer a literal question. Literal questions are those with an answer that is directly stated in the selection. Answer choice A is incorrect. The blacksmith had nothing to do with providing training to horses. Answer choice B is correct. The selection states, “He [the blacksmith] made and repaired implements for farm and home.” Answer choice C is incorrect. The blacksmith’s job always occurred in his shop. There were others that delivered milk. Answer choice D is incorrect. The blacksmith’s job was not to race horses.

Performance Data:

The percent of public school students selecting answer choice B for question 19 on the May 2008 Grade 4 Reading Achievement Test was 81%.

Keywords:  literal question, comprehension

BACK TO INDEX
	Benchmark:   B  
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                                      IT 4.7
	Distinguish fact from opinion.


Multiple Choice Question: 

20. Which statement is an opinion from the selection?
A. Children love to watch blacksmiths.

B. Oxen need to shoes to protect each foot.

C. Horses were used to transport people and goods.

D. Horseshoes protect the horse’s feet.

Commentary:

This question asks students to differentiate between fact and opinion. A fact is something that can be proven to be true. An opinion is a belief or judgment that is not founded on proof or certainty. Answer choice A is correct. The statement that children love something is affective and cannot be proven to be true. Answer choice B is incorrect. This is a statement of fact about the needs of oxen. Answer choice C is incorrect. This statement can be proven to be true according to historical record. Answer choice D is incorrect. The selection states as fact, “Shoes are necessary, then, to protect the animals’ feet..”

Performance Data:

The percent of public school students selecting answer choice A for question 20 on the May 2008 Grade 4 Reading Achievement Test was 77%.

Keywords:  fact, opinion

BACK TO INDEX
	Benchmark:   A  

B
	Use context clues to determine the meanings of new words.

Infer word meaning through identification and analysis of analogies and other word relationships.

	GLI:                                      AV 4.1,                AV 4.4
	AV 4.1:      Determine the meaning of unknown words by using a variety of context clues, including word, sentence and paragraph clues.

AV 4.4:      Identify and apply the meaning of the terms synonym, antonym, homophone and homograph.


Multiple Choice Question: 

21. “When the shoe was properly shaped, the smith plunged it into a tub of water. The hot iron sizzled and steamed as it hit the water.”

What is a synonym for the word plunged?
A. walked
B. carried
C. dipped
D. shaped
Commentary:

This question asks students to select a synonym for the word plunged. Using the context of the sentence to determine the meaning of plunged students can then select the synonym, the word that has the same or similar meaning. Answer choice A is incorrect. The blacksmith is not walking into the tub of water. Answer choice B is incorrect. Neither the blacksmith or the animals are carrying anything into the water. Answer choice C is correct. The word plunged shares a similar meaning with the word dipped. The context clue for the meaning of plunged is “sizzled and steamed as it hit the cold water.” Answer choice D is incorrect. The horseshoe has already been shaped before it is plunged.

Performance Data:

The percent of public school students selecting answer choice C for question 21 on the May 2008 Grade 4 Reading Achievement Test was 86%.

Keywords:  synonym, word relationships

BACK TO INDEX
	Benchmark:   A

Benchmark:     C
	Use text features and graphics to organize, analyze and draw inferences from content and to gain additional information.

Make meaning through asking, and responding to a variety of questions related to text.

	GLI:                                      RP 4.6,                RP 4.7
	RP 4.6:      Select, create and use graphic organizers to interpret textual information.

RP 4.7:      Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Extended Response Question: 

22. Compare how horses were used in the city and how they were used on a farm. Complete the chart with information from the selection.

	What horses did in the city
	What horses did on a farm

	a.
	a.



	b. 
	b.




Scoring Guidelines:

This extended response question asks students to use a graphic or chart to organize and draw conclusions from information in the selection.
	Score
	Student Response

	4
	Response contains FOUR correct answers.

Example:

What horses did in the city

What horses did on a farm

· pulled milk wagons

· pulled freight wagons

· transport people *

· pull heavy loads *

*Both are correct responses for either city or country, but each may appear only once.

· harvested crops

· plowed fields

· pulled hay wagons

· transport people *

· pull heavy loads *

*Both are correct responses for either city or country, but each may appear only once.



	3
	Response contains THREE correct answers.

(three answers from the list above)

	2
	Response contains TWO correct answers.

(two answers from the list above)

	1
	Response contains ONE correct answer.

(one answer from the list above)

	0
	Response is incorrect.


Performance Data:

The percent of public school students at each score point for question 22 on the May 2008 Grade 4 Reading Achievement Test was
	Percent at Each Score Point

	0
	1
	2
	3
	4

	12%
	18%
	20%
	21%
	29%


Keywords:  graphic organizer, chart, draw conclusions

BACK TO INDEX
	Benchmark:  B  
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                                      IT 4.4
	Identify examples of cause and effect used in informational text. 


Multiple Choice Question: 

23. Which of these is an example of cause and effect from the selection?
A. Animals pull heavy loads and travel on hard roads. These animals wear shoes.
B. Horses’ shoes are forged from iron. Horses’ shoes are nailed to the bottoms of their feet.
C. Teams of large horses pulled stagecoaches. Horses, mules and oxen were used on farms to plow and harvest.
D. The blacksmith used his forge and anvil to do all kinds of work. He made and fixed the tools people used.
Commentary:

This question asks students to select the sentences that show a causal relationship. A cause-effect relationship is a stated or implied association between an outcome and the conditions that brought it about. Answer choice A is correct. The heavy work done by these animals was the cause for their need for shoes. Answer choice B is incorrect. These are statements of fact, but they do not reflect a causal relationship. Answer choice C is incorrect. These are statements of fact, but they do not reflect a causal relationship. Answer choice D is incorrect. These are statements of fact, but they do not reflect a causal relationship.

Performance Data:
The percent of public school students selecting answer choice A for question 23 on the May 2008 Grade 4 Reading Achievement Test was 48%.

Keywords:  cause/effect

BACK TO INDEX
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